
B2 经典外刊阅读

长句子扒皮——如何快速寻找主干



长难句分析

• 阅读当中常常会出现一些很长的句子，那么究竟应该如何更好的快速理顺句意，找到突破口呢？



准确把握长难句的关键点 



1.名词

• 英文当中的长难句中存在很多修饰成分，特别是名词。名词后可能会出现

of 短语、介词短语、形容词短语、分词、不定式或从句，不管其后是哪

种成分，一般情况下，名词后面的成分，一般来讲就是修饰或解释这个名

词的。找到中心名词，再来读句子就会显得顺畅很多。



2.动词

• 我们要明确的概念是动词只能做谓语，谓语只能是动词。所以我们需要把

不做谓语的动词变成非谓语动词转而变成句子的其他成分。如何把一个动

词变成非谓语动词呢？就是我们之前讲过的三种非谓语动词构成：变成 to 

do（不定式）、变成v-ing（现在分词/动名词）、变成done（过去分词）。



3.逗号

• 长难句中的逗号一旦数量增加也会对大家理解句子造成某种程度上的阻碍。

• 逗号在长句中主要以四种情况出现：

1)用连词连接的两个并列句子之间。

2)主句与从句之间。

3)用分词短语做的状语与其他成分之间。

4)插入语或同位语前后

我们只要分清楚句中的逗号是出现在哪种情况当中，就可能划分中细致的结构了。



分析长难句的步骤



1.寻找谓语动词

• 一般来讲，有时态的动词就一定是谓语。

• 如果顺着谓语动词往前找，却没有引导词存在，那说明这是主句的谓语动词，
那它的前面就是主语，后面就应该是宾语或表语。

• 如果顺着谓语动词往前找，发现有引导词存在，说明这个谓语动词所在的句子
就是个从句，再根据引导词前的单词判定这是个什么从句：

A. 如果引导词前是个名词，那就根据情况区别是定语从句还是同位语从句；

B. 如果引导词前是实意动词，那就说明这个从句是宾语从句；

C. 如果引导词前面是系动词，那就说明这个从句是表语从句；

D. 如果引导词前面是状语从句的引导词，那就说明这是个状语从句。



1.寻找谓语动词

如：

This alone demonstrates that the television business is not an easy world to survive in, 

a fact underlined by statistics that show that out of eighty European television 

networks no less than 50% took a loss in 1989.

来看看句中的谓语动词有哪些？ 



1.寻找谓语动词

• 如：

This alone demonstrates that the television business is not an easy world to survive in, 
a fact underlined by statistics that show that out of eighty European television 
networks no less than 50% took a loss in 1989.

• 标黄的部分就是句中的谓语动词。

• demonstrates 前面没有引导词，它就是主句的谓语动词；is 前有引导词 that，
且 that 前是实意动词demonstrates，所以这是宾语从句；show 前有引导词 that，
其前是名词statistics，且 that 在从句中显然做主语，所以这里有一个 that 引导
的定语从句；最后一个动词是 took，其前也存在着 that，且 that 前是实意动词，
所以 took 所在的句子是宾语从句。

• 综上，本题主句是一个主谓宾结构，并且宾语中又有一个定语从句和宾语从句。



2.寻找并列连词

• 常见的并列连词有and, but, yet, or, so, for, not only…but also…等。看到这些单词，

很有可能就有并列结构存在，我们就需要判断句子之间的连接关系，找到对应

的主谓结构。很多时候还会存在一些省略成分。



2.寻找并列连词

• 分析下面的句子：

• They are the possessions of the autonomous (self-governing) man of traditional 

theory, and they are essential to practices in which a person is held responsible for 

his conduct and given credit for his achievements.



2.寻找并列连词

• They are the possessions of the autonomous (self-governing) man of traditional theory, and they are 
essential to practices in which a person is held responsible for his conduct and given credit for his 
achievements.

• 并列连词如上已经标出，显然第一个 and 前后的两个句子是完全并列的；后面的and 前后两句话也
应该是并列的，并且其前的谓语动词前有引导词 in which，in which 前又是个名词，所以这是由 and 
引导的两个定语从句。

• 因为存在并列，所以第二个定从和第一个相比，省略了in which a person is。完整结构如下：

• They are the possessions of the autonomous (self-governing) man of traditional theory, and they are 
essential to practices in which a person is held responsible for his conduct and (in which a person is) 
given credit for his achievements.

• 综上，本句话是由第一个 and 连接的两个并列的句子，并且两个句子都是主系表结构；且 and 后面
的句子中还有一个and引导的两个并列定语从句，共同修饰practices。



 3.寻找从句引导词

• 从句前一定要有一个引导词，所以找到引导词就找到了从句，再根据引导词前的单词确定其是什么
从句。

• 来分析下面这个句子：

• Whorf came to believe in a sort of linguistic determinism which, in its strongest form, states that language 

imprisons the mind, and that the grammatical patterns in a language can produce far-reaching consequences 

for the culture of a society.



 3.寻找从句引导词

• Whorf came to believe in a sort of linguistic determinism which, in its strongest form, states that language 

imprisons the mind, and that the grammatical patterns in a language can produce far-reaching consequences for 

the culture of a society.

• 句中的引导词已经被标注出来，which前面是名词determinism，并且which 在从句中做主语，显然这是个

定语从句，修饰其前面的名词。

• 第二个引导词that前面是实意动词states，所以这是个宾语从句。

• 最后的引导词that前有并列连词and，显然后两个that从句是完全并列的宾语从句。

• 综上，该句是个简单的主谓宾结构，宾语名词被一个定语从句所修饰，定语从句中又有两个并列的宾语从

句。



4.寻找名词

• 一般的长句子中，名词后只要不是谓语动词(即作主语)，一般都有修饰限

定成分，即定语或同位语。也就是说，我们只要能寻找到被修饰的核心名

词，其后的修饰也就可以被清楚地定位了。



4.寻找名词

• 分析下面的长句子：

• Pearson has pieced together the work of hundreds of researchers around the 

world to produce a unique millennium technology calendar that gives the 

latest dates when we can expect hundreds of key breakthroughs and 

discoveries to take place.



4.寻找名词

Pearson has pieced together the work of hundreds of researchers around the 

world to produce a unique millennium technology calendar that gives the latest 

dates when we can expect hundreds of key breakthroughs and discoveries to 

take place.

• 如上，分析各个名词，第一个名词Pearson后显然是谓语动词；

• 第二个名词work后面of短语显然是修饰work的；

• 第三个名词calendar后从句也是修饰该名词的。 

• 这样句子的主干就显示出来了：Pearson has pieced together the work to 
produce a calendar.



长难句分析实战

所有句子均选自四六级、考研及雅思托福阅读原文



• During the 1980s, revolutionary changes in the work lives of Americans, caused by technological 

advances which will permit greater productivity by fewer workers, will likely result in shortened 

work weeks, increased released time for workers, and increased pressure for early retirements. 



• During the 1980s, revolutionary changes in the work lives of Americans, caused by technological advances 

which will permit greater productivity by fewer workers, will likely result in shortened work weeks, 

increased released time for workers, and increased pressure for early retirements. 

• 分析： 

• 这句第一个动词caused因为其后边有by，而前面没有系动词，所以很容易判断它是过去分词，整个复

杂的分词短语caused by ...by fewer workers修饰本句主语revolutionary changes(它还有另一个定语in the 

work lives of Americans)，并且该分词短语隔开了主语和谓语，因此该句核心结构是：revolutionary 

changes... will likely result in...。在宾语中含有四个动词shortened, increased, released, increased，而这四

个动词都不是谓语，而是作定语的分词。这从result in后边的并列宾语结构可以判断出来，这里有三

个并列宾语：shortened work weeks，表示“工人每周的工作时间缩短了”；increased released time for 

workers，表示“闲暇时间增多了”；increased pressure for early retirements，表示“提前退休的压力加大

了”。



• During the 1980s, revolutionary changes in the work lives of Americans, caused by technological advances which 

will permit greater productivity by fewer workers, will likely result in shortened work weeks, increased released 

time for workers, and increased pressure for early retirements. 

结构细节

• During the 1980s   时间状语

• revolutionary changes  主语

• in the work lives of Americans  介词短语定语，修饰主语 

• caused by technological advances   过去分词作定语，修饰主语

•  which will permit greater productivity by fewer workers   定语从句，修饰technological advances

•  will likely result in…  谓语动词结构

• shortened work weeks, increased released time for workers, and increased pressure for early retirements宾语，
其中四个过去分词都是定语，修饰不同的名词

• 句子主干：revolutionary changes... will likely result in...



• During the 1980s, revolutionary changes in the work lives of Americans, caused by technological 

advances which will permit greater productivity by fewer workers, will likely result in shortened 

work weeks, increased released time for workers, and increased pressure for early retirements. 

• 参考译文：

20世纪80年代，技术的进步将会导致使用更少的工人创造出更高的生产率，这给美国人的
工作生活带来革命性的变化。这种变化可能会导致缩短工人每周的工作时间，增多闲暇时
间，加大提前退休的压力。



• Coincident with concerns about the accelerating loss of species and habitats has been a growing 

appreciation of the importance of biological diversity, the number of species in a particular 

ecosystem, to the health of the Earth and human well-being.



• Coincident with concerns about the accelerating loss of species and habitats has been a growing 
appreciation of the importance of biological diversity, the number of species in a particular ecosystem, to the 
health of the Earth and human well-being.

• 分析：

• 这个句子是托福一篇阅读的开头段，也是难住了许多同学。这句话其实核心是在于一个倒装结构。

• 核心的短语搭配有两个：

• 1.be coincident with…(和…一致)

• 2.the importance of…to…(A对B的重要性)

• 如果将倒装句还原的话应是：

• A growing appreciation of the importance of…to…has been coincident with…



• Coincident with concerns about the accelerating loss of species and habitats has been a growing 

appreciation of the importance of biological diversity, the number of species in a particular ecosystem, to the 

health of the Earth and human well-being.

• 结构细节：

• a growing appreciation  真正的主语

• of the importance of biological diversity, the number of species in a particular ecosystem, to the health of 
the Earth and human well-being. 定语，修饰appreciation；其中逗号之间的the number of…是插入成分

• has been 谓语动词

•  coincident with concerns about the accelerating loss of species and habitats  表语

• 句子主干：

• Coincident with …has been a growing appreciation...



• Coincident with concerns about the accelerating loss of species and habitats has been a growing 

appreciation of the importance of biological diversity, the number of species in a particular 

ecosystem, to the health of the Earth and human well-being.

• 参考译文：

我们越来越关注生物多样性对于地球和人类的健康的影响，以至于我们开始去关注不断出
现的物种和栖息地的消失。



• By contrast, in the United States an estimated 97 million birds are killed each year when they 

collide with buildings made of plate glass; 57 million are killed on highways each year; at least 3.8 

million die annually from pollution and poisoning; and millions of birds are electrocuted each 

year by transmission and distribution lines carrying power produced by nuclear and coal power 

plants.



• By contrast, in the United States an estimated 97 million birds are killed each year when they collide with buildings 
made of plate glass; 57 million are killed on highways each year; at least 3.8 million die annually from pollution and 
poisoning; and millions of birds are electrocuted each year by transmission and distribution lines carrying power 
produced by nuclear and coal power plants.

• 结构细节：

• By contrast  状语

• in the United States  状语

• an estimated 97 million birds are killed 并列句之一

• each year 状语

• when they collide with buildings made of plate glass 时间状语从句

• 57 million are killed on highways each year 并列句之二

• at least 3.8 million die annually from pollution and poisoning 并列句之三

• and millions of birds are electrocuted each year 并列句之四

• by transmission and distribution lines carrying power produced by nuclear and coal power plants

• 状语，后面的分词结构carrying…和produced by…都作定语



• By contrast, in the United States an estimated 97 million birds are killed each year when they collide with 
buildings made of plate glass; 57 million are killed on highways each year; at least 3.8 million die annually 
from pollution and poisoning; and millions of birds are electrocuted each year by transmission and 
distribution lines carrying power produced by nuclear and coal power plants.

 

• 句子主干：…an estimated 97 million birds are killed …; 57 million are killed…; at least 3.8 million 
die ..from…; and millions of birds are electrocuted….

• 分析：

状语是句中非常灵活、应用非常广泛的句子成分。本句属于并列复合句，由分号隔开，有多个并列分句，
其中when从句，整个从句做第一个子句的时间状语，属于状语从句; 在每个并列句中，状语的类型较多，
如 by contrast，是对整句的一个解释说明，“对比之下”，可以划分为句子的评注性状语，如 in the 
United States, each year, by transmission and distribution等分别做地点状语、时间状语、方式状语等等。练
习时，可将此句作为状语基本知识练习巩固之用。分清楚每个结构的对应成分以及每个成分在句中所起
作用，能够帮助更好理解句子，夯实基础，掌握句子成分基本涵义。



• By contrast, in the United States an estimated 97 million birds are killed each year when they 

collide with buildings made of plate glass; 57 million are killed on highways each year; at least 3.8 

million die annually from pollution and poisoning; and millions of birds are electrocuted each 

year by transmission and distribution lines carrying power produced by nuclear and coal power 

plants.

• 参考译文：

• 相比之下，据估计，美国每年有9700万只鸟由于碰撞到建筑物的厚玻璃板而死亡；5700 
万只鸟死在高速公路上；每年至少有 380 万只鸟死于污染或中毒；而且，每年数以百万
计的鸟类在核电厂和燃煤电厂的输电及配电电缆上触电而死。



• The images produced by the camera obscura, a boxlike device that used a pinhole or lens to 

throw an image onto a ground-glass screen or a piece of white paper, were already familiar—the 

device had been much employed by topographical artists like the Italian painter Canaletto in his 

detailed views of the city of Venice.



• The images produced by the camera obscura, a boxlike device that used a pinhole or lens to throw an image 

onto a ground-glass screen or a piece of white paper, were already familiar—the device had been much 

employed by topographical artists like the Italian painter Canaletto in his detailed views of the city of Venice.

• 结构细节：
• The images 主语
• produced by the camera obscura 定语，修饰images

• a boxlike device  the camera obscura的同位语
• that used a pinhole or lens to throw an image onto a ground-glass screen or a piece of white paper 定语从
句，修饰a boxlike device，后面的to throw…结构为宾语补足语

• were 系动词
• already familiar  表语
• —the device had been much employed by topographical artists like the Italian painter Canaletto in his 

detailed views of the city of Venice 这里的破折号连接的是a boxlike device的同位语从句
• 句子主干：The images…, were already familiar…



• The images produced by the camera obscura, a boxlike device that used a pinhole or lens to 

throw an image onto a ground-glass screen or a piece of white paper, were already familiar—the 

device had been much employed by topographical artists like the Italian painter Canaletto in his 

detailed views of the city of Venice.

• 参考译文：

• 针孔照相机(一种盒状的装置)产生的影像已经为大家所熟知，它是一种使用小孔或透镜将
影像投射到毛玻璃屏或一张白纸上的盒状装置——这种装置已经为很多地貌风景画家所
用，例如意大利画家 Canaletto 在他所创作的威尼斯精致风景画中(使用了这种装置)。



• Researchers have begun to piece together an illuminating picture of the powerful geological and 

astronomical forces that have combined to change the planet’s environment from hot to cold, 

wet to dry and back again over a time period stretching back hundreds of millions of years.



• Researchers have begun to piece together an illuminating picture of the powerful geological and 

astronomical forces that have combined to change the planet’s environment from hot to cold, 

wet to dry and back again over a time period stretching back hundreds of millions of years.

• 参考译文：

• 地球环境从热变冷，从潮湿变干燥。然后又周而复始，这一过程可追溯至几亿年前，强
大的地质和天文力量结合在一起使地球环境发生了这些变化，研究人员开始将这些组合
成了一幅清晰的图画。


